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4.23 COMPUTER STUDIES (451)

4.23.1 Computer Studies Paper 1 (451/1)

SECTION A (40 marks)

QNS RESPONSES MARKS

1. Function of:-

(a)  Hardware:  To perform tasks of inputting, storage, outputting, processing 

                         during data processing and communication.

(b)  Software:  -  Instructs the hardware/computer on what to do during data            

                           processing.

                        -  Provides interface between hardware and liveware.

                        -  Accept functions of software based category ie. system /

                           application/working/uses.

(c)  Liveware:   Meant to design or operate a computer.

1

1

1

2. Problems arising from use of unsuitable computer desk.

 !!!!"#!$%&'(!')*(!#%!+*$,!-.%+')/0!12!#3)!()0,!10!%2!*4!&4.)*'10#1$!3)153#6
 !!!!"2!1#!(%)0!4%#!-.%71()!5%%(!-%01#1%4145!%2!#3)!/%41#%.8!1#!$%&'(!.)0&'#!14!
       eye strain.

 !!!!9.10#!-.%+')/0!:1''!*.10)!12!#3)!,);+%*.(!*4(!/%&0)!0)*#145!-%01#1%40!*.)!
       bad.

 !!!!"4<&.;!*0!*!.)0&'#!%2!2*''145!$%/-&#).!$%/-%4)4#0!(&)!#%!:)*,!$%/-&#).!!!!!
      desks/ small size.

(First 2 x 2) 4

3. Categories of system software

 !!!!=1./:*.)>
 !!!!?)#:%.,145!0%2#:*.)>
 !!!!@-).*#145!0;0#)/>
 !!!!A#1'1#1)06

(First 2 x 2
1

) 1

4. Two factors to consider when evaluating warranty

 !!!!B).1%(C!(&.*#1%4C0$%-)!%2!$%7).D!!E3)!:*..*4#;!03%&'(!0-)$12;!#3)!(&.*#1%4!%2!!
      time covered.

 !!!!F).71$)!*5.))/)4#C')7)'D!!E3)!:*..*4#;!03%&'(!14(1$*#)!#3)!#;-)!%2!0).71$)!#%!
                                                be provided.

 !!!!G%0#!1/-'1$*#1%4C'1*+1'1#;!*5.))/)4#D!!G%0#!03*.145!+)#:))4!#3)!()*').!*4(!#3)!
       buyer in the event of any loss or malfunction.

 !!!!!G*''!%&#!.)0-%40)6
(First 2 x 2) 4
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5. Three ways of using computers in electing school captain

 !!!!!H)510#).145!7%#).0CI2*0#).J>
 !!!!!K%#).!1()4#1L$*#1%4!I*$$&.*#)J>
 !!!!!M$#&*'!7%#145>
 !!!!!E*'';145!-.%$)00!I0-))(;J6

(Any 3 x 1) 3

6.       Figure 1: Bring to front or bring to back

      Used when the target graphic is hidden by other objects.  When clicked, the 

      target graphic is brought to the front.

      Figure 2: Text wrap

      It is used when a graphic is placed within the text area and the user needs to 

!!!!!!()L4)!3%:!#3)!#)N#!O%:0!*.%&4(!#3)!5.*-31$6

1

1

7. Distinction of GUI and command line operating systems

GUI Command line

Makes use of emerging software/and 

hardware technologies

Their interfaces have:

     -  ribbons

     -  control buttons

     -  scroll bars

     -  menus

     - can process complex graphics

The user interacts by:

     -  clicking

     -  scrolling

     -  mouse over

More user friendly.

Hardly makes use of emerging 

hardware/software technologies.

Their interfaces have:

     -  typed commands

     -  prompt

     -  editor window

     -  cannot process complex graphics

Users interact by typing in commands

Less user friendly.

(Any 2 x 2 ) 4
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 !"#"$%&!'()*+,-$!"#&.(/"

8. (a)                                         

                                         Report or documentation  

(b)                                       

!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!P10,C!/*0#).!L')C!(*#*+*0)

1

1

9. 0,#"!(1!,234"$567!,!2(*4&%6$!$(!8$!,!9,7%

!!! !!$3*45)!-*5)!%.1)4#*#1%46
!!! !!$3*45)!#3)!2%4#>
!!! !!()$.)*0)!2%4#!01Q)>
!!! !!.)(&$)!/*.514!01Q)>
!!! !!.)(&$)!$3*.*$#).!0-*$145>
!!! !!.)(&$)!'14)!3)153#6
!!! !!$3*45)!2%4#!0#;')!)56!+%'(C1#*'1$

(Any 3 x 1)

3

10. Role of network administrator

!!! !!#%!$%4L./!#3*#!#3)!4)#:%.,!0).71$)0!*.)!.&44145>
!!! !!#%!$%4L./!#3*#!#3)!&0).!10!5.*4#)(!*--.%-.1*#)!-.171')(5)!#%!*$$)00!#3)!
        network services/password/authentication;

!!! !!#%!$%4L./!#3*#!#3)!4)#:%.,!142.*0#.&$#&.)!10!14!5%%(!$%4(1#1%4>
!!! !!#%!$%4L./!#3*#!#3)!L')0!0%&53#!*.)!14!)N10#)4$)6

(First 3 x 1) 3

11. Impact of mobile phones

!!! !!A0).0!4%!'%45).!R&)&)!14!#3)!+*4,!14!%.().!#%!()-%01#!%.!:1#3(.*:!/%4);>
!!! !!S*0;!*$R&101#1%4!%2!L4*4$1*'!0#*#)/)4#0>
!!! !!S*0;!-*;/)4#!%2!+1''0>
!!! !!@4'14)!+*4,145!10!-%001+')>
!!! !!T%4);!#.*402).!10!2*0#6
!!! !!F*2).!#.*402).!%2!/%4);6
!!! !!B.%71()0!:1()!$%7).*5)6
!!! !!G*4!%22).!0).71$)0!*4;:3).)!*4;!#1/)6
!!! !!G3)*-).!/%4);!#.*402).!0).71$)06
!!! !!"4$.)*0)!14!2.*&(6

(First 3 x 1)

3

                                                

!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!
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12. Items that an email must have:

!!! !!#3)!)/*1'!*((.)00!%2!#3)!.)$1-1)4#>
!!! !!#3)!$%4#)4#!%.!/)00*5)!+)145!$%//&41$*#)(6 2

13. Direct input methods

!!! !!@UH
!!! !!T"GH
!!! !!@GH>
!!! !!@TH>
!!! !!"/*5)!0$*44).>
!!! !!T*54)#1$!0#.1-!#)$34%'%5;>
!!! !!"/*5)!.)$%541#1%4C!2*$)!.)$%541#1%4CL45).!-.14#6

(First  4 2

1
) 2

14. Insecurity arising from hardware failure

!!! !!P*#*!'%00!(&)!#%!#%#*'!0;0#)/!2*1'&.)!)656!VP!$.*03>
!!! !!E3)!)N-).#0!$*'')(!&-%4!#%!.)-*1.!$*4!*$$)00!$.1#1$*'C!7*'&*+')!142%./*#1%4>
!!! !!P*#*!.)$%7).;!0%2#:*.)!/*;!+)!&0)(!#%!/*,)!&4*&#3%.10)(!+*$,&-06

(First 2 x 1) 2

15. Nibbles   -   4

Bytes      -   2

1

1

SECTION B (60 marks)

16. (a)  Advantages of using low-level language

!!!!!! !!-.%5.*/!)N)$&#1%4!10!1//)(1*#)>
!!!!!! !!#3);!.)R&1.)!4%!$%/-1'*#1%48!4%!14#).-.)#*#1%4C#.*40'*#1%4!3)4$)!#3);!*.)!
          faster;

!!!!!! !!3*.(:*.)!%-#1/1Q*#1%4!10!)N#)4017)>
!!!!!! !!-.%5.*/!()7)'%-)(!#*,)0!')00!/)/%.;!0-*$)>
!!!!!! !!0&1#*+')!2%.!/1$.%!()71$)0>
!!!!!! !!)*0;!#%!()0154!)')$#.%41$!()71$)6

(First 2 x 1)

2

(b) Three tools that can be used to develop an algorithm

!!!!!! !!P)$101%4!#*+')
!!!!!! !!-0)&(%$%()>
!!!!!! !!4*#&.*'!'*45&*5)>
!!!!!! !!#%-!(%:4!$3*.#0>
!!!!!! !!O%:$3*.#06
!!!!!! !!P=PC$%4#)N#!(1*5.*/
!!!!!! !!SHP
!!!!! !!()$101%4!#.))

(First 3 x 1)

3
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17. (a)  Time-sharing mode

      This is a processing mode in which a central processor serves two or more 

      users with different requirements.  The processor time is divided equally 

      among the tasks in the queue.  A user whose task requirements are more than          

      is apportioned is send back to the queue.  For example, four jobs requiring   

      times t
1
, t

2
, t

3
 and t

4
 to complete is apportioned equal time in each round until   

      when they are done.

INPUT
     

  

                                   Incomplete job back to the queue

3

2

(b)  Factors to consider when selecting data processing mode

!!!!!! !!E3)!%-#1/10*#1%4!%2!-.%$)00145!#1/)>!
!!!!!! !!E3)!#1/)!2*$#%.!.)R&1.)(!2%.!()$101%4!*.10145!2.%/!#3)!-.%$)00)(!(*#*>
!!!!!! !!E3)!)*0)!%2!()7)'%-/)4#8!&0)!*4(!/*14#)4*4$)>
!!!!!! !!E3)!$%4#.%'!%7).!#3)!.)0%&.$)0!)656!L')08!"C@!()71$)0!)6#6$>
!!!!!! !!E3)!4))(!2%.!#3)!03*.)(!.)0%&.$)0!*/%45!0)7).*'!&0).0!:3%!/*;!*22%.(!
!!!!!!!!!!!-&.$3*0145!#3)1.!%:4!2*$1'1#1)0!*0!14!#1/)!03*.145!$%4L5&.*#1%4>!!
!!!!!! !!E3)!7%'&/)!%2!:%.,!147%'7)(>!
!!!!!! !!E3)!$%0#!%2!*$R&1.145!#3)!.)')7*4#!3*.(:*.)8!0%2#:*.)8!/)(1*!)6#6$!*4(!#3)! 
          cost of maintenance;

!!!!!! !!E3)!4*#&.)!%2!#3)!#*0,!#%!+)!-.%$)00)(6
(First 4 x 1) 4

(c)  (i)   Purpose of user manual

             It is a documentation whose purpose is to help a user to use the system 

             with little guidance.

      (ii)  Purpose of sample data

!!!!!!!!!!!!!U)2%.)!#3)!0;0#)/!10!1/-')/)4#)(8!1#!3*0!#%!+)!$%4L./)(!#3*#!1#!10!!!
             functional.  Sample data is meant to be used to test whether the system is 

             giving desired output.

      (iii) Purpose of table descriptions

             They are details of table structures that the system will require for the 

             purpose of designing the actual tables. 

   

2

2

2

18. (a)  (i)   Repeater

             A device used to re-construct data signal during data transmission to its 

             original strength/amplify/boost/regenerate. 1

Job 4

time = t
1

Job 3

time = t
2

Job 2

Time = t
3

Job 1

Time = t
4

PROCESSOR
Output
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        (ii) Router

             - It is a device used to facilitate movement of data or packets between two       

!!!!!!!!!!!!!!%.!/%.)!WM?F!%2!(122).)4#!$%4L5&.*#1%4!I)N-*401%4!%2!4)#:%.,0J6
             - Delivers a packet/data directly to destination computers.

             - Interconnects different networks/provides network services.

1

(b)   (i)   The component P is the terminator. 1

        (ii)  Terminator in a backbone is used to prevent data signal from bouncing 

               back/absorb signals.

2

(c)   Use of internet in environmental conservation club

!!!!!!!! !!!F%&.$)!%2!,4%:')(5)!%4!)471.%4/)4#*'!/*##).0>
!!!!!!!! !!!G%''*+%.*#1%4!:1#3!-)).0!2.%/!%#3).!0$3%%'0!%.!%.5*410*#1%40>
!!!!!!!! !!!P100)/14*#1%4!%2!142%./*#1%4!%4!:3*#!#3)!$'&+!10!(%145>
!!!!!!!! !!!F)),145!2%.!2&4(145!2.%/!0-%40%.06!!!!

(First 3 x 1) 3

(d)   (i)   :%6%8$"!(1!/56;567!.-,6*+!:!,62!<

!!!!!!!!!!!!!! !!F-))(!%2!$%//&41$*#1%4!+)#:))4!U!*4(!G!10!14$.)*0)(!014$)!#3)!#.*2L$!
                   between the two branches can be re-routed through the link BC;

!!!!!!!!!!!!!! !!"2!)1#3).!MG!%.!MU!10!(%:48!#3)!#3.))!+.*4$3)0!$*4!0#1''!$%//&41$*#)>
!!!!!!!!!!!!!! !!"2!#3)!VX!0;0#)/0!2*1'8!#3)!#:%!+.*4$3)0!U!*4(!G!$*4!$%//&41$*#)!
                  using this link.

(First 2 x 2) 4

        (ii) Ways to protect company network from hackers

!!!!!!!!!!!!!! !!G3*45145!-*00:%.(!2.)R&)4#';
!!!!!!!!!!!!!! !!A0)!%2!)4$.;-#1%4>
!!!!!!!!!!!!!! !!A0)!%2!(*#*!-.%N1)0>
!!!!!!!!!!!!!! !!A0)!%2!L.):*''0!#%!L'#).!&4:*4#)(!-*$,)#0>
!!!!!!!!!!!!!! !!A0).!.)0#.1$#1%4!)656!-*00:%.(0C!+1%/)#.1$06
!!!!!!!!!!!!!! !!A0)!%2!$%/-')N!-*00:%.(6

(Any 3 x 1) 3

19. (a)   Formats applied

    

        Bold, strikethrough, underline, italics, centre alignment, dropcap, bulleted 

        list, line height / spacing, 2 column paragraph, column break, casing, font 

        type, left alignment, column separator.

I=1.0#!Y!Z! 21   ) 3
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SCHOOL

EXAMINATION

LANGUAGES

HUMANITIES

STUDENTS

SCIENCES

(b)  Tools for proofreading

!!!!!!!! !!!!F-)''!$3)$,).!*4(!5.*//*.C!(1$#1%4*.;>
!!!!!!!! !!!!M&#%$%/-')#)>
!!!!!!!! !!!!M&#%$%..)$#>
!!!!!!!! !!!!E3)0*&.&06

(Any 3 x 1) 3

(c)  (i)    =  @ or + Countif (B2: B6, Ò>10,000Ó)

!!!!!!!!!!!!!!!!!!!!IU[DUYJ!!M.5&/)4#!.*45)!! !\
!!!!!!!!!!!!!!!!!!!!I]\^8^^^J!G.1#).1*!!!!!!!!!!!!!! !\
!!!!!!!!!!!!!!!!!!!!!!!!!!!M''!!=%./&'*!$%..)$#!!! !\ 3

      (ii)   At D3

              Formula is 

!!!!!!!!!!!!!!!!!!!!_!U`!a!G_[!! !\
                    = 16000  2

!!!!!!!!!!!!!!!!!!!!b!!`[8!^^^!! !\ 2

(d)

                                                                  

Any 4 entities each 
2

1

Any 4 connectors 4 each x 
2

1

4

20. (a)  Characteristics of octal number system.

!!!!!! !!)*$3!0;/+%'!10!.)-.)0)4#)(!+;!`!+1#06
!!!!!! !!E3)!4&/+).!10!/*()!%2!c!0;/+%'0!^8!\8![8!666666666666666d>
!!!!!! !!T*N1/&/!7*'&)!%2!*!0145')!(151#!10!d!I%4)!')00!#3*4!#3)!7*'&)!%2!#3)!+*0)J>
!!!!!! !!E310!4&/+).!0;0#)/!&0)0!+*0)!c6

(Any 2 x 1) 2
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(b)  (i)  111.101
2
 to decimal

              111  =  7
10 
! !\

           0.101  =  
2

1

4

0

8

1

8

5
+ + = !! !\

                      =  0.625

                   111.101
2
 =    7.625

10
!%.!d6Y[e!! !\!

3

      (ii)  14.6875
10 

 to binary

             14
10
  =  1110

2
! !\

             

. .

. .

. .

. .

0 6875 2 1 375

0 375 2 0 75

0 75 2 1 5

0 5 2 1 0

=

=

=

=!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!! !\

!!!!!!!!!!!!!!!!!!!!!!!!()$1/*'!-%.#1%4!b!^6\^\\! !\
                        Number is 1110. 1011

2
! !\

4

(c)  (i)   17
10

 =  10001 or 10001
2
! \

 

!!!!!!!!!!!!!\!!^^\^^^\!! !\
                        binary equivalent of 17

                      Sign bit for negative. 2

      (ii)      17
10

 =       10001

             In 8 bit       00010001

!!!!!!!!!!!!!H)7).0)!+1#0!\!\!\!^!\!\!\!^!! \
                                   +                 1  

                                  1 1 1 0 1 1 1 1

               Number is 1  1 1 0 1 1 1 1
2
! 

 2

(d)  110.11
2
 + 11.011

2

                    1 1 0.1 1 0

               +   0 1 1.0 1 1!! !\
                1 0 1 0 . 0 0 1!! !\!! 2

210

111 = 1  22 +1  21 + 1  20

       = 4 + 2 + 1 = 7
10

101
2
 = 1  2-1 + 0  2-2 + 1 2-3

         = 1  
2
1  + 0  1

4
 + 1  1

8
          

          = 0.5 + 0 + 0.125 = 0.625
10

` 111.101
2
 = 7.625

OR


